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[Step[” " Description

1 |Setnto be the length of s.

: 1Set m 10 be the Jength of t.

11f n =0, return m and exit.

Hf m =0, return n and exit.
;5 Construct a matrix containing 0..m rows and 0..n columns.

2 (Initialize the first row to O.n.
Hnitialize the ﬁrgt coiumn to 0.. m.

3 Examme each character of s (1 from 1 to n)

S Examme each character Of t g from i to m)

S 1fslaiequastm thecost:sO

{1£ sli] doesn't equal (), the cost s 1. (and note in upper left of each cell)

o Set cell dI ,Jl of the matrix equa} to the minimum of:
: 1a. The cell immediately above plus 1: dfi-1,j] + 1.
1ib. The cell immediately to the left plus 1. dfi,j-1] + 1.
fc. The cell diagonally above and to the left plus the cost: di; l,_} }] + cost,
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